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#include<bits/stdc++.h>

#define 11 long long

using namespace std;

const int maxn=1e6+5;

1l a[maxn],b[maxn],n;

1l ans;

pair<ll,1l>pa[2][maxn];

11T maxx[maxn];

bool cmp(pair<ll,1l>a, pair<ll,11l>b){
return a.first<b.first;

}

int main(){
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cin>>n;
for(int i=0;i<n;i++){
cin>>ali];
}
int cnt[2]={0,0};
for(int 1=0;i<n;i++){
cin>>b[i];
ans+=abs(b[i]-a[i]);
if(a[il>b[i]){
palO][cnt[0]++]=make pair(a[i],b[i]);
}else{
palll[cnt[1]++]=make pair(b[i],alil]);
}
maxx[i]=max(a[i],b[i]);
}
sort(pal[0],pal@]+cnt[0O],cmp);
sort(pal[l],pall]+cnt[1],cmp);
sort(maxx,maxx+n) ;
int p[2]={cnt[0]-1,cnt[1]-1};
11 d=0;
11 mina=2e9;
11 minb=2e9;
for(int i=n-1;i>=0;i--){
while(p[0]>=0&&pa[0] [p[0O]].first>=maxx[i]){
mina=min(mina,pal@][p[0]].second);
plO]--;
}
while(p[1]>=0&&pa[1l][p[1]].first>=maxx[i]){
minb=min(minb,pal[l][p[1l]].second);

pl1l]--;
}
d=max(d,maxx[i]-max(mina,minb));
}
ans=ans-2*d;
cout<<ans<<endl;
return 0;
}
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#include<bits/stdc++.h>
using namespace std;
long long n,m;
const int mod=998244353;
long long mul(long long a,long long b){
long long res=1;
while(b){
if(b&l){
res=res*a%smod;
}
a=a*a%smod;
b>>=1;
}
return res;
}
int main(){
cin>>n>>m;
long long tmp=n;
long long ans=0;
long long p=pow(2,int(log2(n+1))+1)-1;
p=min(p, tmp+m);
int a0=1log2(n+1);
int al=log2(n+m);
for(int i=a0;i<=al;i++){
long long Ln=mul(pow(2,i),mod-2);
long long C=(ans-1+mod)%mod;
ans=(C*mul((1l-Ln+mod)%mod, p-n)%mod+1)%mod;
n=p;
p=min(tmp+m, (p+1)*2-1);
}
cout<<(1l-ans+mod)%mod<<endl;
return 0;
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#include<bits/stdc++.h>
#define 11 long long
using namespace std;
const int maxn=2e5+50;
1l n,m,k,ans;
int to[maxn<<l];
int nxt[maxn<<l];
int head[maxn],cnt=-1;
int a,b,d[maxn];
int dis[maxn];
bool vis[maxn];
bool f[maxn<<l];
bool flag[maxn];
void add edge(int u,int v){
to[++cnt]=v;
nxt[cnt]l=head[u];
head[u]=cnt;
}
vector<int>ve[maxn];
void bfs(int st){
queue<pair<int,int> >qu;
qu.push(make pair(st,0));
vis[st]=1;
while(!qu.empty()){
int fr=qu.front().first;
int d=qu.front().second;
qu.pop();
for(int i=head[fr];i!=-1;i=nxt[1i]){
if(vis[to[i]]){
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continue;

}

vis[to[i]]1=1;

qu.push(make pair(to[i],d+1));
ve[fr].push back(to[i]);

fli]=1;
dis[to[i]]=d+1;

}

}
bool dfs(int p,int fa){

int sz=ve[p].size();
ans++;
for(int i=0;i<sz;i++){

if(dis[ve[p]l[i]]>k)continue;
if(!tdfs(velpl[i],p)){
ans+=k-dis[ve[p][i]];

}
flag[pl=1;
}

for(int i=head[p];i'!'=-1;i=nxt[i]){
if(f[i]]||to[i]l==fa||dis[to[i]]>k)continue;
ans+=2*k-dis[p]-dis[to[i]];

fli]=1;
f[i~1]=1;
flag[pl=1;
flag[to[i]]=1;
}
return flag[pl;

int main(){
cin>>n>>m>>k;

memset (head, -1,sizeof (head));

for(int i=0;i<m;i++){
cin>>a>>b;
add edge(a,b);
add edge(b,a);

}

bfs(1l);

dfs(1,0);

cout<<ans<<endl;

return 0;
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#include<bits/stdc++.h>

#define 11 long long

using namespace std;

const int maxn=1e5+50;

1l n,q;

11 a[3][maxn];

bool f[3][maxn];

1l p[3][maxn];

1l dis[3][maxn];

1l cir[maxn];

int ma[3][maxn];

int cnt;

int getstart(int u,int v,int id){
if(ma[id] [u]'!'=ma[id][v])return -1;
int tmp=dis[id][v]-dis[id][u];
return tmp<0?tmp+cir[ma[id][u]]:tmp;

¥
1T mul(1l a,1l b,11l mod){
11 res=0;
while(b){
if(b&1){

res=(res+a)%mod;

}

a=(a+a)%mod;
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}

b>>=1;
}

return res;

1l ex gcd(ll A,11 B, 11 &x, 11 &y){

int

if(B==0){
x=1;
y=0;
return A;
}
11 d=ex gcd(B,A%B,y,Xx);
y-=A/B*x;
return d;

main(){
cin>>n;
memset(dis,-1,sizeof(dis));
for(int i=0;i<3;i++){
for(int j=1;j<=n;j++){
cin>>al[i][j];
}
¥
for(int i=l;i<=n;i++){
plO][i]l=al0][a[l][al2][i]]];
pll][il=alllla[2][alO][i]]];
pl2][i]=al2][a[0][all][i]]];
}
for(int i=1;i<=n;i++){
for(int j=0;j<3;j++){
if(ma[j]l[i])continue;
mal[j]l[i]=++cnt;
dis[j][1]=0;
int k=i, 1len=0;
do{
ma[jllpljl[k]]=cnt;
dis[jl[pl[jl[k]l]=dis[j][K]+1;
k=p[j1[k];
len++;
Iwhile(i'=k);
cir[cnt]l=len;
}
}
cin>>Qq;
1 x,y,z;
while(q--){
cin>>x>>y>>z;
11 ans=-1;
for(int 1=0;i<3;i++){
int x1=1,yl=1,2z1=1;
if(i==1){
x1=a[0][1];
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(clil/d);

yl=a[1l][1];
z1=al2][1];

}

if(i==2){
x1=a[0][a[1][1]];
yl=a[l][a[2][1]];
zl=a[2][a[O][1]];

}

int st[3];

st[0]=getstart(x1l,x,0);
st[l]=getstart(yl,y,1);
st[2]=getstart(zl,z,2);

int c[3];

c[O0]=cir[ma[0][x]];
c[1l]=cir[ma[1][y]l];
c[2]=cir[mal2][z]];

//solve the equations by using ex CRT

//t=st[0] (mod c[0O])
//t=st[1] (mod c[1])
//t=st[2] (mod c[2])

if(st[0]<0||st[1]<0]|]|st[2]<0)continue;

1l m=c[0];
11 tmp=st[0];
for(int i=1;i<3;i++){

//solve the equation:
//tmp + X*m = st[i]
//X*m + Y*c[i] = st[i]-tmp

//d = gcd(m,c[i]);

//-->X*(m/d) + Y*(c[i]/d)

1t X,Y;

1l d=ex _gcd(m,c[i],X,Y);
if((tmp-st[i])%d!=0){

tmp=-1;
break;

}

(mod c[i])

(st[i]-tmp)/d

//find the minimum solution:X = X * (st[i]-tmp)/d %

X=mul(X, ((st[i]-tmp%sc[i]+c[i])%c[i])/d,c[i]/d);

tmp=tmp+X*m;

m=m*c[i]/d;

tmp=(tmp%m+m)Sm;
}

if(tmp==-1)continue;

if(ans==-1)ans=tmp*3+i;
else ans=min(ans,tmp*3+i);

}
cout<<ans<<endl;
}
return 0;
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1l m[n],r[n];
1l ex CRT(){
11 M=m[0O];
1l tmp=r[0];
for(int i=1l;i<n;i++){
1t X,Y;
1l d=ex gcd(M,m[i],X,Y);
if((tmp-r[i])%d!=0){
tmp=-1;
//no solution
break;
}
//mul() is a fast multiply which prevents overflow
//just like fast power
X=mul(X, ((r[i]-tmp%m[i]+m[i])%m[i])/d,m[i]/d);
//X = X*(r[i]-tmp)%(c[i]/d)
tmp=tmp+X*M;
M=M*c[i]/d;//update M=Llca(m[i])
tmp=(tmp%M+M)%M; //make the solution positive
}

return tmp;
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